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PART - 111

> 19fweo / BIOLOGY
(sWBp wHmid hidle euyl / Tamil & English Version)

ST HeTe] : 3.00 wenfl CHyLd | [ Qurgg wiHlbueamger : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70
Sifleenrset : (1) Sioads elamésesn sflurs uourd o erargr craugemen sAluTTE5IS
Qamerereyd. EFsLILS D GanudmLnde Siepmé samsTasurearilLb
o Lanqgunsd CgflefsEse .
) Beob dagk s»UY oblea LLGCWL  dFWIHAUSDEGL
S 5CaTyHeusH@Gh LwuauBss CauamHibd. UL BSE aumfeusnE
Querdled LweTL(HSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

&Y : uGA-I (2udf-greureiue), UGS -1 (il -allondud) salsgal allmLggratle
edlen_wefl&&HeLb. '

Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate
answer books.

uES - I (e-ulfl-greureilwev) / PART - I (BIO-BOTANY)
(wHuCueaer : 35) / (Marks : 35)

19fey - 1 / SECTION -1

GO = () WSS NTESEHEGD eflen L wefl&Ea|b. 8x1=8

iy Qasr@ssuul@der pres@ wrHm Maorsafled Wasaw gnyemLw
aflenL_enwd CaiposHidgis GO B e elenulenem b Gaiigg) erpsayb.

Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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L GudGurleulsale Cablis gray ghgflenwud @hlliug :

(=) el () 2 aib (@) salby (rr) Geurggmrridl

Which of the following represents gametophytic generation in Pteridophytes ?

(@) Prothallus (b)  Thallus () Cone (d)  Rhizophore
2. Gauseloafl Qswoway GHugder LiemTLImELD.

(=) < CuCued (=) @ Cred

(@) QerenGend () Qrredl&Gess)

Vexillary aestivation is characteristic feature of the family :

(a) Fabaceae (b) Asteraceae

() Solanaceae (d) Brassicaceae

3. deasreedldy bpmib Al swhdlomear @aamrsEn Carob :

(=) s&8lald siflevid (<=4) edumeils @jfleib
(8) =8llene CoA (FF) &Lf& <ilevd
The compound which links glycolysis and Krebs cycle is :
(a) Succinic acid (b) Pyruvic acid
(c) Acetyl CoA (d) Citric acid
4. eaurlisen wpmib HisHlen QrievL smer DNAwrdfl ___ cuenswreng.
(1) A () C (@) H () B
Watson and Crick model of DNA double helixis ___ form.
(a A (b) C (0 H (d B

5. yré&dundefwd erg ?

(=1) s CLrurgLim (<2,) eriredlestum

(@) wfuGureaflor () QuggsGermursefliwin
Identify the Archaebacterium.

(a) Acetobacter (b) Erwinia

(c) Treponema (d) Methanobacterium

6. GeneumeuaneupmIeT eThs pem ellens 2-pasdams HEs LLETLRSSLLGADE ?

(1) eflengwjemm Qsg1580 (<) Guorged Hlapssiso

(@) 2iHEs@WES5D (FF) @enel BTG

Which one of the following methods are used to break the seed dormancy ?
(a) Scarification (b) Impaction

(c) Stratification (d) All the above
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7. erGurGsrbsafler Quasn® e Dia@EsEHD 6rfbhs 2jwe Hlenawulld Cpmaesorss
Qerihg GerpHme@d ?
() Quasafdlwd (<) srolwb (@) Gamgwid (/) oaLmye
The two sub-units of ribosomes remain united at critical ion level of :

(a) Magnesium (b) Calcium () Sodium (d) Ferrous

8. Qeegsmeas Hpliy cTangd sTiHeg ?
(=) QumiLrflun sweailufer 2 aTmmpay
(<) QumiLrdluw sjweflufler QeuetCummd
(®) E&Ceameor® wefludler 2 etmempey
() evaplrréade wefluler o drmenpa
Stomata of a plant open due to :
(@) Influx of K*
(b)  Efflux of K+
() Influx of CI™
(d) Influx of OH™

Slfley - 2/ SECTION - 2
GO0y : e Hreng lamésEnse el wallssa,b. 4x2=8

Note : Answer any four questions.

9. CapmACGwmArev whpmd Ganl gCrmblyev masbsasmer Caunu®ssis.

Differentiate homoiomerous and heteromerous lichens.

10. PCamaQumbsErsEh 2 EpACLTatUTbsEEEEL oL Cw sramiu@in
Qurgleurer QremH LTLSMET 6T(HEIS.
Mention two characters shared by gymnosperms and angiosperms.

11. Sl oul L Ged @miy eremug erenen ?
What is meant by Programmed Cell Death ?

12. Hppg aurdvu@eni spenpuile Bienwlienu LLLD auemrbg UTsD GH&S|D.
Draw and label the diagram of open vascular bundle.

13.  weps Asugllen wadluggioungear gCs@Ib @y mer e (psia.

Write any two significance of Mitosis.
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14, yegsded@ieniw, yssmbys Qedapn @mUTaLOaT, Wp(PEILOWTET @bHhE DI,
sailss Leedleul L tb, SaNES sivedeul b, Goeiol L& Galianu GamemrL wafler
LT GEETsdenar eT(pgs.

Find out the floral formula for a bisexual flower with bract, regular, Pentamerous, distinct
calyx and corolla, superior ovary without bracteole.

\fley - 3/ SECTION -3

G&DIUY : steneuGuenid ewperny NaTésErEE elenLwealssaln. elarm eram 19 -&@
sLLmuwons el welldsa. | 3x3=9
Note : Answer any three questions. Question No. 19 is Compulsory.

15. Lmi@rr Gl e wefler waof euenruLLb cuefhgl LT GSHTEMS 6T (PSIS.

Draw the floral diagram of Datura metal and write its floral formula.

16. BlusaiCurens® wpmb HluselCuraL B — CaumuBsss.
Differentiate - Nucleoside and Nucleotide.

17. epsll Lhausda 2 epdGurav@uid greurmseafler Ceuswser CuNgns @meEw ?
e ?
In which season the vessels of angiosperms are larger in size ? Why ?

18. o ileEGLRd Yare e GCargmeareaw eilarsgs.
Explain the test-tube funnel experiment.

19. avdldeyBaeiler cumasamen aleufl.
Explain Sclereids with their types.

19fey - 4/ SECTION - 4

GO : SiewenSEl eNaTEsE@5HELD aflenL_wefl&&a b, 2x5=10
Note : Answer all the questions.
20, (=) @pafiCouil e(BTHDSMS LILESIL-6T afleufl&aeyLb.

260605

(<) SperdCurev@uinbsaflen Lifluemgnid e argp L wopwiamar alau.
(a) Explain Tap root modifications with neat diagram.
OR

(b)  Explain the insectivorous mode of nutrition in angiosperms.

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

21.

www.Padasalai.Net www.Trb Tnpsc.Com

(=) srauy Qa@isEn, eflene QFda) & 2_eTer Geumium(D&Eener L L euenemris-

LBE5S
NNV

(=) BLQuEDQfey auamsLm g e clleumdl&aeyLb.

(a)

(b)

SmiLy :

Note :

Tabulate the differences between plant cell and animal cell.

OR

Discuss on five kingdom classification.

LGS - II (2-wilfl-eSleoruflwied) / PART - II (BIO-ZOOLOGY)
 (w&HlGluessrsen : 35) / (Marks : 35)

S1fley - 1/ SECTION -1
() SioeSg NaTssErs@n edaLwalsseayb. 8x1=8
(i) OCsr@ssuul(erer mremE wrHm el sale Wsa b ghLemLw
denLenwd Cppts®sss GHULGLea amLulmeayb Cerggl
T (PGS LD.
(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

1. @eariys declen geriGunmafler sraliu@in prifleny wrg ?

(1) Qameomgger (<) gflGumeom
(8) 656y () Gpdaige prilap
What type of fibres are found in connective tissue matrix ?
(a) Collagen (b) Areolar
(c) Cartilage (d) Tubular
2. UssT_() 266 2 MILIL|&6T Qe srartiiLi(HEDa).
(<31) sTQLOTEITLIT (<) souemer
(@) gewreim LMbLY () 86t
Lateral line sense organs occur in
(a) Salamander (b)  Frog
(c) Water Snake (d) Fish
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3.

Ry HHSGSHOF GTH@I LrgETaSng ?
(<) HOOFE-HENEIW BHIETLD (<@p) Quimgits s mramb
(@) senartul HraTLD (rr)  Slevigd [premn
The sphincter of Oddi guards :

(a) Hepato-Pancreatic duct (b)  Common bile duct

(c) Pancreatic duct (d) Cystic duct

b @iirey QpeoLrraflen criu@Heawd gribgiereng ?

(=1) Queromefen & eremid

(<=1,) QanenCGe cuenarefler Hermn

(8) SIFTEOD &(HET [hI6HTGpED

(7)) Aermommeedadlmbg) Coreammid @udbs miewrprard CammEii

Concentration of urine depends upon which part of the nephron ?

(a) Bowman’s Capsule
(b) Length of Henle’s Loop
() Proximal Convoluted tubule

(d) Network of capillaries arising from glomerulus

sourgsamngd sLHUUOEGHIS

(1) Qupepenar (<8),) (P@OTID
(@) Hpiepener (FF)  LImrebtein

Breathing is controlled by :

(@) Cerebrum (b)  Medulla oblongata

(¢) Cerebellum (d)  Pons

@adcndermen erfed LweIGHEOLIGR DG ?
(<21) Guienr guimflgge (c2p)) GpuSladr aigiah)enif) oo o
(@) euilenan auqailig s GflGod (7)) GUilEan L@

Isinglass is used in

(@)  Wine preparation (1) Clearing of wine
() Distillation of wine (d)  Preservation of wine
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Querellw @evpaaiadrer LFsbd :
(=1) owCurdlear (=) péiqer (@) Quéigen () eSSl
The protein present in the thin filament is
(a) myosin (b) actin (c) pectin (d) Leucin

Qrss 2-@pgailer LRGEHEGL WearTavDT LFSD 6Tl ?
(=1) GGermyedlen

(<) o camuiflGarrege
(8) sioyblen

(rF) &yib enCGeven
Which one of the following plasma proteins is involved in the Coagulation of blood ?
(@) Globulin (b) Fibrinogen

(c) Albumin (d) Serum amylase

9fley - 2/ SECTION -2

4x2=8

Note : Answer any four questions.

9.

10.

11.

12.

13.

14.

souenemuied sreRTLLHID &HEUTE (PEDS@ETL Quufl(s.

Name the types of respiration seen in frog.

CarGaum &g (Mule) el LOLHSSEENID 2 ML IWFTE 2 6Teng) ?
Why mule is sterile in nature ?

sriCasmOwfgydrer gansulanypaaflar QUGS Fmms.

Name the filaments present in the Sarcomere.

Blembir eremmmed eremen ?
What is Lymph ?

aurgdlen gaflls LaTLEMET CT(LHFIS.

Write the peculiar characters of duck.

GmGriyerall ereriuBeug) etg ? eren Sleuaumm) SoWssLLRHDng ?

Which is called as blind spot ? Why is it called so ?
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9fe - 3/SECTION -3

@y : stemneuCuignid epesTmI o9\ G & (EHH S e welésayb. eflerm eram 19 -&(8)
SL_Lmuons elewaldsea.

3x3=9

Note : Answer any three questions. Question No. 19 is Compulsory.
15. @uéshd g sailggieoma @emenTliLg Sl crampenipssliLBEDS ?

Why blood is considered as a typical connective tissue ?
16. er@by Bensaflen epemm WPEEIL LSTL&EmETS GEIEICES

List three important features of bony fishes. _
17.  yCrm CGLr Qpe.Lfigpuirssemer Quor_Lr QpsLfigursselli bG5S Ceaupu (5515

Differentiate proto nephridia from meta nephridia.
18. mrby Gsdeler (Blyyrmes) LLLD cUMTHS) LTSEIG®ETS GNESaLD.

Draw and label the structure of nerve cell (Neuron).
19, =ECrrQusreludean M GHsmans CuNICE:S

Specify the symptoms of acromegaly.

9fey - 4/ SECTION -4

&y - S|EOETTSHE AT & @H& G0 AenLwieN&EEa|L. 2x5=10

Note : Answer all the questions.

20. (=) Smifbrasdlen U ARIMCY: GamppsHen Siemolidoa uLggILen efleufl&Esab.
9|60608)
(<24, <2460 OHHID Queir srLliumen LpFSlenul CaumuBSHS.
(a) Explain the L.S. of kidney with a labelled diagram.
OR
(b) Differentiate between male and female cockroach,

21. (<=4) LU G riepeden (LmblAEe Gonf) eumpsenss spHélenwt efleuflEsaib.
3|60V G
(<21,) GemyLients GLHUTEOS amriGomeaaflen ueflsemer ellflouras @HOALayb
(a) Explain the life cycle of silkworm (Bombyx mori).
OR
(b) Writea detailed account of gastro-intestinal tract hormones.
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